FY21 Report to the Legislature (Pursuant to Section 503 of PA 166 of 2020)

Department of Licensing and Regulatory Affairs Bureau of Construction Codes

FY20 Actual Data

	License			To	tal Revenue
	Period	# Exempt	<u>Fee</u>		Exempt
Electrical Initial Licenses					
Electrical Contractor (61)	3 year	7	\$300	\$	2,100.00
Master Electrician (62)	1 year	8	\$50	\$	400.00
Electrical Journeyman (63)	1 year	51	\$40	\$	2,040.00
Apprentice Electrician (64) (50)	1 year	57	\$15	\$	855.00
Fire Alarm Contractor (51)	3 year	2	\$300	\$	600.00
Fire Alarm Specialty Tech (52)	1 year	5	\$50	\$	250.00
Fire Alarm Specialty Apprentice (50)	1 year	6	\$15	\$	90.00
Sign Specialty Contractor (53)	3 year	0	\$200	\$	-
Sign Specialist (54)	1 year	5	\$40	\$	200.00
Total Electricians		141		\$	6,535.00
Residential Builder Initial Licenses					
Salesperson	3 year	9	\$195	\$	1,755.00
Individual Builder	3 year	134	\$195	\$	26,130.00
M&A Individual	3 year	8	\$195	\$	1,560.00
Total Residential Builders	•	151		\$	29,445.00
Plumbing Initial Licenses					
Contractor Plumber (80)	3 year	3	\$300	\$	900.00
Master Plumber (81)	3 year	6	\$300	\$	1,800.00
Journey Plumber (82)	1 year	14	\$40	\$	560.00
Apprentice Plumber (83)	1 year	38	\$15	\$	570.00
Total Plumbers	1 year	61	Ψ13	\$	3,830.00
Total Fluinbers		01		φ	3,830.00
Mechanical Initial Licenses					
Mechanical Contractor (71)	3 year	<u>42</u>	\$300	\$	12,600.00
Total Mechanical Contractors		42		\$	12,600.00
Building Officials & Inspectors Initial Registrations	3 year	<u>9</u>	\$75	\$	675.00
Total Building Official Licenses		<u>9</u>		\$	675.00
Boiler Initial Licenses					
Installer	Initial Fee	1	\$80	¢	80.00
				\$	80.00
Repairer	Initial Fee Initial Fee		\$80	\$	150.00
Inspector			\$50	\$	
Operator Total Pailer Licensess	Initial Fee	_	\$80	<u>\$</u> \$	240.00
Total Boiler Licensees		7		\$	470.00
BUREAU CONSTRUCTION CODES TOTALS:		<u>411</u>		\$	53,555

FY21 Report to the Legislature (Pursuant to Section 503 of PA 166 of 2020)

Department of Licensing and Regulatory Affairs Bureau of Construction Codes

FY21 Projected Data

	License			To	tal Revenue
	Period	# Exempt	<u>Fee</u>		Exempt
Electrical Initial Licenses					
Electrical Contractor (61)	3 year	7	\$300	\$	2,100.00
Master Electrician (62)	1 year	8	\$50	\$	400.00
Electrical Journeyman (63)	1 year	51	\$40	\$	2,040.00
Apprentice Electrician (64) (50)	1 year	57	\$15	\$	855.00
Fire Alarm Contractor (51)	3 year	2	\$300	\$	600.00
Fire Alarm Specialty Tech (52)	1 year	5	\$50	\$	250.00
Fire Alarm Specialty Apprentice (50)	1 year	6	\$15	\$	90.00
Sign Specialty Contractor (53)	3 year	0	\$200	\$	-
Sign Specialist (54)	1 year	5	\$40	\$	200.00
Total Electricians	•	141		\$	6,535.00
Residential Builder Initial Licenses					
Salesperson	3 year	9	\$195	\$	1,755.00
Individual Builder	3 year	134	\$195	\$	26,130.00
M&A Individual	3 year	8	\$195	\$	1,560.00
Total Residential Builders	- J	151		\$	29,445.00
					,
Plumbing Initial Licenses					
Contractor Plumber (80)	3 year	3	\$300	\$	900.00
Master Plumber (81)	3 year	6	\$300	\$	1,800.00
Journey Plumber (82)	1 year	14	\$40	\$	560.00
Apprentice Plumber (83)	1 year	38	\$15	\$	570.00
Total Plumbers	•	61		\$	3,830.00
					,
Mechanical Initial Licenses					
Mechanical Contractor (71)	3 year	42	\$300	\$	12,600.00
Total Mechanical Contractors	•	42		\$	12,600.00
				·	,
Building Officials & Inspectors Initial Registrations	3 year	9	\$75	\$	675.00
Total Building Official Licenses	•	9		\$	675.00
Total Building Official Elections		<u> </u>		Ψ	073.00
D. 11. 1. 11. 11.					
Boiler Initial Licenses			400		00.00
Installer	Initial Fee	1	\$80	\$	80.00
Repairer	Initial Fee		\$80	\$	-
Inspector	Initial Fee		\$50	\$	150.00
Operator	Initial Fee	<u>-</u>	\$80	\$	240.00
Total Boiler Licensees		7		\$	470.00
BUREAU CONSTRUCTION CODES TOTALS:		<u>411</u>		<u>\$</u>	53,555

FY21 Report to the Legislature (Pursuant to Section 503 of PA 166 of 2020)

Department of Licensing and Regulatory Affairs Bureau of Construction Codes

FY22 Projected Data

	<u>License</u> Period	# Exempt	Fee	To	tal Revenue Exempt
Electrical Initial Licenses		<u> Esterape</u>	<u></u>		
Electrical Contractor (61)	3 year	7	\$300	\$	2,100.00
Master Electrician (62)	1 year	8	\$50	\$	400.00
Electrical Journeyman (63)	1 year	51	\$40	\$	2,040.00
Apprentice Electrician (64) (50)	1 year	57	\$15	\$	855.00
Fire Alarm Contractor (51)	3 year	2	\$300	\$	600.00
Fire Alarm Specialty Tech (52)	1 year	5	\$50	\$	250.00
Fire Alarm Specialty Apprentice (50)	1 year	6	\$15	\$	90.00
Sign Specialty Contractor (53)	3 year	0	\$200	\$	-
Sign Specialist (54)	1 year	5	\$40	\$	200.00
Total Electricians	•	141		\$	6,535.00
					•
Residential Builder Initial Licenses					
Salesperson	3 year	9	\$195	\$	1,755.00
Individual Builder	3 year	134	\$195	\$	26,130.00
M&A Individual	3 year	8	\$195	\$	1,560.00
Total Residential Builders	·	151		\$	29,445.00
Plumbing Initial Licenses					
Contractor Plumber (80)	3 year	3	\$300	\$	900.00
Master Plumber (81)	3 year	6	\$300	\$	1,800.00
Journey Plumber (82)	1 year	14	\$40	\$	560.00
Apprentice Plumber (83)	1 year	<u>38</u>	\$15	\$	570.00
Total Plumbers	-	61		\$	3,830.00
Mechanical Initial Licenses					
Mechanical Contractor (71)	3 year	<u>42</u>	\$300	\$	12,600.00
Total Mechanical Contractors		42		\$	12,600.00
Building Officials & Inspectors Initial Registrations	3 year	<u>9</u>	\$75	\$	675.00
Total Building Official Licenses		<u>9</u> 9		\$	675.00
-		_			
Boiler Initial Licenses					
Installer	Initial Fee	1	\$80	\$	80.00
Repairer	Initial Fee		\$80	\$	-
Inspector	Initial Fee		\$50	\$	150.00
Operator	Initial Fee		\$80	\$	240.00
Total Boiler Licensees		<u>3</u> 7	Ψ.50	\$	470.00
Tomi Bollot Elections		•		Ψ	., 0.00
BUREAU CONSTRUCTION CODES TOTALS:		<u>411</u>		\$	53,555

FY21 Report to the Legislature (Pursuant to Section 503 of PA 166 of 2020)

Department of Licensing and Regulatory Affairs Bureau of Construction Codes

FY23 Projected Data

	<u>License</u> Period	# Exempt	Fee	To	tal Revenue Exempt
Electrical Initial Licenses	1 01100	" Exempt	100		Exempt
Electrical Contractor (61)	3 year	7	\$300	\$	2,100.00
Master Electrician (62)	1 year	8	\$50	\$	400.00
Electrical Journeyman (63)	1 year	51	\$40	\$	2,040.00
Apprentice Electrician (64) (50)	1 year	57	\$15	\$	855.00
Fire Alarm Contractor (51)	3 year	2	\$300	\$	600.00
Fire Alarm Specialty Tech (52)	1 year	5	\$50	\$	250.00
Fire Alarm Specialty Apprentice (50)	1 year	6	\$15	\$	90.00
Sign Specialty Contractor (53)	3 year	0	\$200	\$	-
Sign Specialist (54)	1 year	5	\$40	\$	200.00
Total Electricians	,	141		\$	6,535.00
Residential Builder Licenses					
Salesperson	3 year	9	\$195	\$	1,755.00
Individual Builder	3 year	134	\$195	\$	26,130.00
M&A Individual	3 year	8	\$195	\$	1,560.00
Total Residential Builders		151		\$	29,445.00
Plumbing Initial Licenses					
Contractor Plumber (80)	3 year	3	\$300	\$	900.00
Master Plumber (81)	3 year	6	\$300	\$	1,800.00
Journey Plumber (82)	1 year	14	\$40	\$	560.00
Apprentice Plumber (83)	1 year	<u>38</u>	\$15	\$	570.00
Total Plumbers		61		\$	3,830.00
Mechanical Initial Licenses					
Mechanical Contractor (71)	3 year	<u>42</u>	\$300	\$	12,600.00
Total Mechanical Contractors		42		\$	12,600.00
Building Officials & Inspectors Initial Registrations	3 year	9	\$75	\$	675.00
Total Building Official Licenses		9		\$	675.00
Boiler Initial Licenses					
Installer	Initial Fee	1	\$80	\$	80.00
Repairer	Initial Fee	0	\$80	\$	-
Inspector	Initial Fee	3	\$50	\$	150.00
Operator	Initial Fee	<u>3</u>	\$80	\$	240.00
Total Boiler Licensees		7		\$	470.00
BUREAU CONSTRUCTION CODES TOTALS:		<u>411</u>		<u>\$</u>	53,555

FY21 Report to the Legislature (Pursuant to Section 503 of PA 166 of 2020)

Department of Licensing and Regulatory Affairs Bureau of Construction Codes

FY2021 Estimated Costs for Service

Estimated Cost to Process an Initial License Application - Regular	\$32.02
Estimated Cost to Process an Initial License Application - with Veteran Exemption	\$41.92
Estimated Cost to Process a Renewal Application - Regular	\$30.94
Estimated Cost to Process an Examination Application - Regular	\$111.03

All of the above estimated costs were calculated by conducting a time study of numerous industry examination, initial and renewal application processes. These costs reflect the average processing time for an application only and do not include the daily cost for administration and enforcement.

All examinations are being conducted by a third party, PSI. The bureau reviews the applications and provides questions for the examination. It does not receive a fee for these services.